DU MSc Resource Management N Design
Application

Topic:- DU_J18_MSC_RM_Topic01

1) Environment analysis for business includes:
i. Customers

ii. Competitors

iii. Non-governmental organizations

iv. Government

[Question ID = 19165]

1. i, iii, iv [Option ID = 46651]
2. i, iii, iv [Option ID = 46652]

4, All of These [Option ID = 46654]

Correct Answer :-
= All of These [Option ID = 46654]

2) Assertion (A): HRP is the process of forecasting an organization’s future demand.
Reason (R): HRP has no relation with recruitment and selection process.
[Question ID = 19199]

1. Both (A) and (R) are wrong [Option ID = 46790]
2. Both (A) and (R) are correct [Option ID = 46789]
3. (A) is correct, but (R) is wrong [Option ID = 46787]
4. (A) is wrong, but (R) is correct [Option ID = 46788]

Correct Answer :-
» (A) is correct, but (R) is wrong [Option ID = 46787]

3) Assertion (A): Cane furniture can be used for outdoors.
Reason (R): Cane is eco-friendly and moisture resistant.

[Question ID = 19196]

1. Both (A) and (R) are wrong [Option ID = 46778]
2. Both (A) and (R) are correct [Option ID = 46777]
3. (A) is correct, but (R) is wrong [Option ID = 46775]
4. (A) is wrong, but (R) is correct [Option ID = 46776]

Correct Answer :-
» Both (A) and (R) are correct [Option ID = 46777]

4) Assertion (A): Qualitative standards are also known as descriptive standards.
Reason (R): Qualitative standards are intangible and cannot be measured quantitatively.
[Question ID = 19192]

1. Both (A) and (R) are wrong [Option ID = 46762]
2. Both (A) and (R) are correct [Option ID = 46761]
3. (A) is correct, but (R) is wrong [Option ID = 46759]
4. (A) is wrong, but (R) is correct [Option ID = 46760]

Correct Answer :-
« Both (A) and (R) are correct [Option ID = 46761]

5) Assertion (A): When some substances are either added or removed from a product due to which its composition, nature or quality gets
altered, the substance is said to be adulterated.
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Reason (R): When the manufacturer, wholesaler or retailer does not inform the buyer about the unethical changes in the product, with
the intention of cheating him, adulteration is said to be unintentional.

[Question ID = 19188]

1. Both (A) and (R) are wrong [Option ID = 46746]
2. Both (A) and (R) are correct [Option ID = 46745]
3. (A) is correct, but (R) is wrong [Option ID = 46743]
4, (A) is wrong, but (R) is correct [Option ID = 46744]

Correct Answer :-
» (A)is correct, but (R) is wrong [Option ID = 46743]

6) Assertion (A): HR department is critical to organizational success.
Reason (R): HR department looks into overall organizational environment.
[Question ID = 19198]

1. Both (A) and (R) are wrong [Option ID = 46786]
2. Both (A) and (R) are correct [Option ID = 46785]
3. (A) is correct, but (R) is wrong [Option ID = 46783]
4, (A) is wrong, but (R) is correct [Option ID = 46784]

Correct Answer :-
= Both (A) and (R) are correct [Option ID = 46785]

7) Assertion (A): Consumers are under pressure to behave responsibly.
Reason (R): Consumers are accused of over consumption and of causing environmental destruction.
[Question ID = 19184]

1. Both (A) and (R) are wrong [Option ID = 46730]
2. Both (A) and (R) are correct [Option ID = 46729]
3. (A) is correct, but (R) is wrong [Option 1D = 46727
4. (A) is wrong, but (R) is correct [Option ID = 46728]

Correct Answer :-
= Both (A) and (R) are correct [Option ID = 46729]

8) Assertion (A): Effective storage increases task efficiency.
Reason (R): A right place for everything and everything in its place’ increases the time lost in searching for required items.
[Question ID = 19203]

1. Both (A) and (R) are wrong [Option ID = 46806]
2. Both (A) and (R) are correct [Option ID = 46805]
3. (A) is correct, but (R) is wrong [Option ID = 46803]
4. (A) is wrong, but (R) is correct [Option ID = 46804]

Correct Answer :-
» (A) is correct, but (R) is wrong [Option ID = 46803]

9) Assertion (A): Marketers should follow healthy and ethical advertising practices.
Reason (R): Advertising is a personal form of communication between manufacturers and consumers.
[Question ID = 19197]

1. Both (A) and (R) are wrong [Option ID = 46782]
2. Both (A) and (R) are correct [Option ID = 46781]
3. (A) is correct, but (R) is wrong [Option ID = 46779]
4. (A) is wrong, but (R) is correct [Option ID = 46780]

Correct Answer :-
» (A)is correct, but (R) is wrong [Option ID = 46779]
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10) Assertion (A): Entrepreneurs are highly creative people.
Reasoning (R): Entrepreneurs are always in search of innovative and creative ideas.
[Question ID = 19207]

1. Both (A) and (R) are wrong [Option ID = 46822]
2. Both (A) and (R) are correct [Option ID = 46821]
3. (A) is correct, but (R) is wrong [Option 1D = 46819]
4, (A) is wrong, but (R) is correct [Option ID = 46820]

Correct Answer :-
= Both (A) and (R) are correct [Option ID = 46821]

11) Assertion (A): Entrepreneurship education may foster entrepreneurial motivation.
Reasoning (R): Entrepreneurship education must be offered to students in schools and colleges.
[Question ID = 19208]

1. Both (A) and (R) are wrong [Option ID = 46826]
2. Both (A) and (R) are correct [Option ID = 46825]
3. (A) is correct, but (R) is wrong [Option ID = 46823]
4. (A) is wrong, but (R) is correct [Option ID = 46824]

Correct Answer :-

» (A) is correct, but (R) is wrong [Option ID = 46823]

12) Assertion (A): Focal point can be established through the use of accessories.
Reason (R): Accessories are highly flexible in usage.

[Question ID = 19194]

1. Both (A) and (R) are wrong [Option ID = 46770]
2. Both (A) and (R) are correct [Option ID = 46769]
3. (A) is correct, but (R) is wrong [Option ID = 46767]
4. (A) is wrong, but (R) is correct [Option ID = 46768]

Correct Answer :-
» Both (A) and (R) are correct [Option ID = 46769]

13) Assertion (A): Values can be intrinsic or extrinsic.
Reason (R): Extrinsic values are related more to managerial processes.
[Question ID = 19193]

1. Both (A) and (R) are wrong [Option ID = 46766]
2. Both (A) and (R) are correct [Option ID = 46765]
3. (A) is correct, but (R) is wrong [Option ID = 46763]
4, (A) is wrong, but (R) is correct [Option ID = 46764]

Correct Answer :-

» (A)is correct, but (R) is wrong [Option ID = 46763]

14) Assertion (A): Innovation is different from creativity.

Reason(R): Creativity is the ability to generate new ideas while innovation refers to the social application of the creative idea.

[Question ID = 19205]

1. Both (A) and (R) are wrong [Option ID = 46814]
2. Both (A) and (R) are correct [Option ID = 46813]
3. (A) is correct, but (R) is wrong [Option ID = 46811]
4, (A) is wrong, but (R) is correct [Option ID = 46812]

Correct Answer :-
» Both (A) and (R) are correct [Option ID = 46813]
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15) Assertion (A): Psychic income is the satisfaction derived from real income.

Reason (R): Psychic income is produced when family members use their skills and knowledge to produce the goods and services needed
by family members.

[Question ID = 19186]

1. Both (A) and (R) are wrong [Option ID = 46738]
2. Both (A) and (R) are correct [Option ID = 46737]
3. (A) is correct, but (R) is wrong [Option ID = 46735]
4, (A) is wrong, but (R) is correct [Option ID = 46736]

Correct Answer ;-
» (A)is correct, but (R) is wrong [Option ID = 46735]

16) Assertion (A): Expiry date is not a statutory requirement of a label.
Reason (R): The only statutory requirement of a good label is its appearance.
[Question ID = 19195]

1. Both (A) and (R) are wrong [Option ID = 46774]
2. Both (A) and (R) are correct [Option ID = 46773]
3. (A) is correct, but (R) is wrong [Option 1D = 46771]
4. (A) is wrong, but (R) is correct [Option ID = 46772]

Correct Answer :-
= Both (A) and (R) are wrong [Option ID = 46774]

17) Assertion (A): Smaller the diameter of suspended particulate matter, the more dangerous it is for human beings.
Reason (R): Suspended particulate matter smaller than 10 microns penetrate deep into the lungs and are more difficult to exhale.
[Question ID = 19189]

1. Both (A) and (R) are wrong [Option ID = 46750]
2. Both (A) and (R) are correct [Option ID = 46749]
3. (A) is correct, but (R) is wrong [Option 1D = 46747
4, (A) is wrong, but (R) is correct [Option ID = 46748]

Correct Answer :-
= Both (A) and (R) are correct [Option ID = 46749]

18) Assertion (A): Leg muscles should be used for lifting loads off the ground instead of back muscles.
Reason (R): Back muscles are weaker than leg muscles.

[Question ID = 19191]

1. A'is incorrect but R is correct [Option ID = 46756]
2. Ais correct but R is incorrect [Option ID = 46755]
3. Both A and R are incorrect [Option ID = 46758]
4. Both A and R are correct [Option ID = 46757]

Correct Answer :-
» Both A and R are correct [Option ID = 46757]

19) Assertion (A): Engel’s law states that with the increase in income, family spends lesser percentage on food.
Reason (R): With increase in family income, percentage spent on necessities will decrease.

[Question ID = 19185]

1. Both (A) and (R) are wrong [Option ID = 46734]
2. Both (A) and (R) are correct [Option ID = 46733]
3. (A) is correct, but (R) is wrong [Option ID = 46731]
4. (A) is wrong, but (R) is correct [Option ID = 46732]

Correct Answer :-
« Both (A) and (R) are correct [Option ID = 46733]
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20) Assertion (A): The functions of a control will determine its location, identification & design.
Reason (R): Some aspects of a control, such as its ‘feel’ are difficult to define but play an important role in the performance of the control.
[Question ID = 19202]

1. A is correct but R is wrong [Option ID = 46801]

2. Both A and R are incorrect [Option ID = 46802]

3. Both A and R are correct and R is the correct explanation of A [Option ID = 46800]

4, Both A and R are correct but R is not the correct explanation of A [Option ID = 46799]

Correct Answer ;-
» Both A and R are correct but R is not the correct explanation of A [Option ID = 46799]

21) Assertion (A): A resource or means is considered if it is available and recognized only in present context.

Reason (R): A source or means which does not have utility at present but may have potential for use in future, cannot be considered as a
resource.

[Question ID = 19204]

1. Both (A) and (R) are wrong [Option ID = 46810]
2. Both (A) and (R) are correct [Option ID = 46809]
3. (A) is correct, but (R) is wrong [Option ID = 46807]
4, (A) is wrong, but (R) is correct [Option ID = 46808]

Correct Answer :-
= (A)is correct, but (R) is wrong [Option ID = 46807]

22) Assertion (A): Dormer window is built on the sloping side of a pitched roof.
Reason (R): Dormer is a large window that ensures proper ventilation and lighting of the enclosed space below the roof.
[Question ID = 19201]

1. Ais incorrect but R is correct [Option ID = 46797]
2. Ais correct but R is incorrect [Option ID = 46795]
3. Both A and R are incorrect [Option ID = 46798]
4. Both A and R are correct [Option ID = 46796]

Correct Answer :-
= A s correct but R is incorrect [Option ID = 46795]

23) Assertion (A): Rainwater harvesting is the accumulation of rainwater for reuse.
Reason (R): The concept of water harvesting is not new for India and had evolved centuries ago.
[Question ID = 19190]

1. Both (A) and (R) are wrong [Option ID = 46754]
2. Both (A) and (R) are correct [Option ID = 46753]
3. (A) is correct, but (R) is wrong [Option 1D = 46751]
4. (A) is wrong, but (R) is correct [Option ID = 46752]

Correct Answer :-
= (A} is correct, but (R) is wrong [Option ID = 46751]

24) Assertion (A): Training leads to individual and organizational growth.
Reason (R): Training is concerned with imparting skills for a specific job.
[Question ID = 19200]

1. Both (A) and (R) are wrong [Option ID = 46794]
2. Both (A) and (R) are correct [Option ID = 46793]
3. (A) is correct, but (R) is wrong [Option ID = 46791
4. (A) is wrong, but (R) is correct [Option ID = 46792]

Correct Answer :-
» Both (A) and (R) are correct [Option ID = 46793]
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25) Assertion (A): Training and Development is treated as a significant value-adding process by top management.

Reason(R): It is intended to make a major contribution to the achievement of performance targets at corporate, unit, team and individual
level.

[Question ID = 19206]

1. Both (A) and (R) are wrong [Option ID = 46818]
2. Both (A) and (R) are correct [Option ID = 46817]
3. (A) is correct, but (R) is wrong [Option ID = 46815]
4. (A) is wrong, but (R) is correct [Option ID = 46816]

Correct Answer :-
» Both (A) and (R) are correct [Option ID = 46817]

26) Assertion (A): Notebook method of record keeping is simple and flexible.
Reason (R): In the notebook method of record keeping, new leaves can be added and the old ones replaced.
[Question ID = 19187]

1. Both (A) and (R) are wrong [Option ID = 46742]
2. Both (A) and (R) are correct [Option ID = 46741]
3. (A) is correct, but (R) is wrong [Option ID = 46739]
4, (A) is wrong, but (R) is correct [Option ID = 46740]

Correct Answer :-
» Both (A) and (R) are correct [Option ID = 46741]

27) Various methods of maintaining household records are:
i. Envelope method

ii. Expenditure method

iii. Share method

iv. Sheet method

v. Notebook method

[Question ID = 19158]

. I, iv and v [Option ID = 46624]

. ii, iv and v [Option ID = 46625]
. iii, iv and v [Option ID = 46626]
. ii, iii and iv [Option ID = 46623]

B R R

Correct Answer :-
» i, ivand v [Option ID = 46624]

28) 9. Which of the following statements are true for real income:

i. It is a flow of goods and services

ii. It is not a flow of goods and services but something held in reserve

iii. It does not vary from family to family

iv. It is derived from the use of money income together with that added without the use of money but as a result of efforts of family
members

v. Community also provides a form of real income through library, parks etc.

[Question ID = 19153]

. i, iii, iv [Option ID = 46605]
. ii, iii, iv [Option ID = 46606]
. i, iv, v [Option ID = 46603]
. ii, iv, v [Option ID = 46604]

W L R

Correct Answer :-
* i, iv, v [Option ID = 46603]

29) Properties of a Row House are:

i. Its side walls are attached with the adjoining house
ii. Helps in economizing space

iii. Enjoys open space on all sides

iv. Less scope for flexibility

[Question ID = 19172]
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1., iii, iv [Option ID = 46682]

3., ii, iv [Option ID = 46679]
4, i, ii [Option ID = 46680]

Correct Answer :-
e i, ii, iv [Option ID = 46679]

30) To admit sunlight indoors for maximum duration, place windows in the following directions:
i. North-west

ii. North-east

iii. South-west

iv. South-east

v. North-south

[Question ID = 19177]

1. i, iii, iv [Option ID = 46701]
2. iii, iv [Option ID = 46702]
3., ii, v [Option ID = 46700]
4, i, ii [Option ID = 46699]

Correct Answer :-
« iii, iv [Option ID = 46702]

31) The three basic principles of Body Mechanics are:

i. Taking advantage of the momentum

ii. Using leg muscles effectively

iii. Considering the centre of gravity

iv. Keeping body parts in alignment

v. Using arms as effective leverage [Question ID = 19145]

1., iii, v [Option ID = 46573]
2. i, i, iv [Option ID = 46574]
3., ii, v [Option ID = 46571]

4, i, iv, v [Option ID = 46572]

Correct Answer :-
e i, iii, v [Option ID = 46573]

32) The three basic criteria that an effective display must satisfy are:
i. Understanding

ii. Environment

iii. Recognition

iv. Detection

[Question ID = 19176]

1. i, iii, iv [Option ID = 46696]
2. i & iv [Option ID = 46698]
3. ii, iii & iv [Option ID = 46697]
4, i, ii, iii [Option ID = 46695]

Correct Answer :-
« i, iii, iv [Option ID = 46696]

33) The 3 Rs in the context of waste management are:
i. Reduce

ii. Rejoice

ili. Reuse

iv. Recycle

[Question ID = 19159]

i, iii, iv [Option ID = 46628]
. ii, iii, iv [Option ID = 46630]
i, ii, iv [Option ID = 46627]
i, ii, iii [Option ID = 46629]

R Y

Correct Answer :-
e i, iii, iv [Option ID = 46628]
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34) Internal privacy within a house should take into consideration the following:
i. Lighting

ii. Grouping of rooms

iii. Zoning

iv. Ventilation

v. Disposition of doors

[Question ID = 19181]

1. i, iii, iv [Option ID = 46717]
2. ii, iii, v [Option ID = 46718]
3.1, ii, v [Option ID = 46716]
4. i, ii, iii [Option ID = 46715]

Correct Answer :-
« i, iii, v [Option ID = 46718]

35) While making sound investments, safety of principal can be ensured by determining:
i. Reputation of the issuers of the security

ii. Diversification of investments

iii. High rate of return

iv. Easy accessibility and convenience

v. Type of securities purchased

[Question ID = 19151]

1.1, iv, v [Option ID = 46595]
2.1, ii, v [Option ID = 46597]

3. i, iii, v [Option ID = 46598]
4. iii, iv, v [Option ID = 46596]

Correct Answer :-
= i, ii, v [Option ID = 46597]

36) Benefits of green buildings are:
i. Improved water quality

ii. Improved indoor air quality

iii. Energy efficiency

iv. Increased use of VOCs

v. Reduced waste generation
[Question ID = 19160]

1. i, iii, iv, v [Option ID = 46634]
2. i, iii, iv, v [Option ID = 46633]
3. i, i, iii, iv [Option ID = 46632]
4, i, ii, iii, v [Option ID = 46631]

Correct Answer :-
= i, i, iii, v [Option ID = 46631]

37) Violet colour is blend of which two colours:
i. Green

ii. Blue

iii. Red

iv. White

[Question ID = 19163]

1. ii & iii [Option ID = 46643]
2. ii, iii & iv [Option ID = 46646]
3. i & iii [Option ID = 46644]
4. i & ii [Option ID = 46645]

Correct Answer :-
« i & iii [Option ID = 46643]

38) Following are the methods of calculating National Income:
i. Product method

ii. Income method

iii. Sheet method

iv. Expenditure method

[Question ID = 19155]
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1. i, iii, iv [Option ID = 46614]
2. ii, iii, iv [Option ID = 46613]
3.1, ii, iv [Option ID = 46611]
4, i, ii, iii [Option ID = 46612]

Correct Answer :-

» i, ii, iv [Option ID = 46611]
39) Following are the skills described important by Katz for successful management performance:
i. Technical
ii. Human
iii. Writing
iv. Conceptual
[Question ID = 19150]

1. ii, iii, iv [Option ID = 46592]

2. i, iii [Option ID = 46593]

3., ii, iv [Option ID = 46591]

4. All of These [Option ID = 46594]

Correct Answer :-
= i, i, iv [Option ID = 46591]

40) The Consumer Protection Act enshrines the following rights of the consumers:
i. Right to safety

ii. Right to be informed

iii. Right to choose

iv. Right to return

v. Right to be heard

vi. Right to seek redressal

vii. Right to consumer education

[Question ID = 19154]

i, iii, iv, v, vi, vii [Option ID = 46610]
. i, iii, iv, v, vi, vii [Option ID = 46608]
<y i, dii, iv, v, vi [Option ID = 46607]
i, 1i, fil, v, vi, vii [Option ID = 46609]

o lad P

Correct Answer :-
e i, ii, iii, v, vi, vii [Option ID = 46609]

41) Some of the product related consumer problems are:
i. Adulteration

ii. High prices

iii. Incorrect weights and measures

iv. Aggressive marketing strategies

v. Planned obsolescence

[Question ID = 19157]

2. i, iii, iv only [Option ID = 46619]
3.1, ii, iv only [Option ID = 46620]
4. i, i, iii, iv, v [Option ID = 46622]

Correct Answer :-
« i, ii, iii, iv, v [Option ID = 46622]

42) Match the items in List I with items in List II:
List 1 List I
a. Achievement Motivation theory i. Alderfer Fredrick
b. ERG Theory ii. Fredrick Herzberg
Two-factor theory 1. David McClelland
d. Need Hierarchy Theory . Abraham Harold Maslow

[Question ID = 19239]
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a b. C. d
v 11 i i
1.
a b. C. d.
1 1 i iv
2.
a b C. d.
1 1 i v
3.
a b. C. d.
11 i i v
4,
Correct Answer :-
a b. C. d.
11 i i v

[Option ID = 46947]

[Option ID = 46948]

[Option ID = 46950]

[Option ID = 46949]

[Option ID = 46949]

43) Match the items in List I with items in List II:
List I List I
a Transition i.  Use of different size of the same object in a room
b. GradationProgression 1. Using same pattern on a sofa, chair and drapery
¢. Contrast iti.  Use of curved lines in furniture arrangement
d. Repetition iv.  Use of white against black in a room
[Question ID = 19235]
a b. C. d
1. il e v . : [Option ID = 46932]
a b. C. d.
D. 111 i v 1
2; [Option ID = 46934]
a b. C. d.
C. 1t 1 v i
3. [Option ID = 46933]
a b. ¢ d
A v 11 1 1
4, [Option ID = 46931]
Correct Answer :-
a b. C. d.
C. 111 1 v i
. [Option ID = 46933]
44) Match the items in List I with items in List II:
List I List I
a. Rococo Style i. 1870 - 1880

b. Neo Classic style

n 1714 - 1774

c. Gothic Revival

1. 1840 - 1880

d. Queen Anne Style

iv. 1760 - 1789

[Question ID = 19236]

v 1 u

1

[Option ID = 46938]
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a b. C. d
A 111 1 w i
2 [Option ID = 46935]
a b. C. d.
3. - E 24 g ' [Option ID = 46936]
a b. C. d.
C. 1 v 1 i
4, [Option ID = 46937]
Correct Answer :-
a b. C. d.
B. 1 v 11 1
. [Option ID = 46936]
45) Match the items in List I with items in List II:
List I List IT
a. Cultural factor i Perception
b. Social factor 1. Personality
c. Personal factor 1. Reference groups
d. Psychological factor iv. Social class
[Question ID = 19228]
a b. c. d
D v 111 1 i
1. [Option ID = 46906]
a b. C. d.
B. v 111 1 1
21 [Option ID = 46904]
a b. C. d
C. 1 111 1 v
3. [Option ID = 46905]
a b. C. d
4. £ : ! - i [Option ID = 46903]
Correct Answer :-
a b. c. d
B. v 111 1 1
46) Match the items in List I with items m List II:
List I List I
a. Human resource 1. Library
b. Economic resource 1. Skill
¢. Community resource 111. Income
d. Environmental resource iv. Rivers
[Question ID = 19232]
a b. C. d
B. 1 1] 11 v
1. [Option ID = 46920]
a b. C. d
A 111 i\ i 1
2. [Option ID = 46919]

[Option ID = 46504]
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[Option ID = 46926]

[Option ID = 46925]

[Option ID = 46924]

[Option ID = 46923]

[Option ID = 46924]

a b. c. d.
3. L : ” g [Option ID = 46922]
a b. C. d.
| = | ™ : “' [Option ID = 46921]
Correct Answer :-
a b. c d.
e e : v [Option ID = 46921]
47) Match the items in List I with items in List II:
List I List IT
a. Frederick Tavlor i. Hawthome studies
b. Henri Fayol 1. Bureaucratic Management
c. Max Weber ii.  Scientific Management
d. Elton Mayo iv. Admimstrative Management
[Question ID = 19233]
a b. C. d
N D. i v i i
a b. c. d
. 1 1w i i
2.
a b. c. d.
B. i1 v i 1
3.
a b. C. d.
A i v 1 i
4.
Correct Answer :-
a b. c. d
B. i v 1 1
48) Match the items in List I with items in List II:
List I List II
a. Modern method of appraisal 1. Assessment of emplovees
knowledge & skill
b. Performance tests 1. 360 degree
¢. Behaviorally anchored rating scales 1.  Psychological appraisals
d. Focus is on future potential of employee iv. BARS

[Question ID = 19238]

a b. c. d
B. 1 1 iv i
1.
a b. ¢ d
D. v i 1 i
2.

[Option ID = 46944]

[Option ID = 46946]
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a b. G d
C. 11 i i w
3. [Option ID = 46945]
a b. ¢ d
A i 1 v 111
4, [Option ID = 46943]
Correct Answer :-
a b. € d
A i 1 v 11
. [Option ID = 46943]
49) Match the items in List I with items in List II:
List 1 List I
Azim Premji i.  Flip Kart
. Sachin Bansal 1.  Bharti Airtel
Suml Mittal 1.  Infosys
Narayan Murthy w. Wipro
[Question ID = 19243]
a b. C. d
A 1 v i1 11
1. [Option ID = 46963]
a b. C. d.
C: v 1 i 11
2. [Option ID = 46965]
a b. C. d
D. m v i 1
3. [Option ID = 46966]
a b. C. d
B i i w i
4. [Option ID = 46964]
Correct Answer :-
a b. C. d
C. v 1 i 11
. [Option ID = 46965]
50) Match the stages of waste water treatment given in List I with items in List II:
List I List IT
a. Preliminary treatment X Sedimentation
b. Primary treatment i Additional solids removal
¢. Secondary treatment iii. Activated sludge
d. Tertiary treatment v. Screening Grit removal
[Question ID = 19230]
a b. C. d
B. v 1 11 i
1. [Option ID = 46912]
i b. 5. d
D. v 11 1 i
2. [Option ID = 46914]
a b. G. d
C: v n 11 1
3 [Option ID = 46913]
a b. C. d
A v 1 i 1
4. [Option ID = 46911]
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Correct Answer :-

4.

4,

a b. c d
B. iv i il i
[Option ID = 46912]
Match the items in List I with items in List IT:
List I List I
a Intrapreneur i Manager
b. Works as an emplovee of the organisation 1. Corporate entrepreneur
¢. Management guru 11l Peter Drucker
d. Entrepreneur iv. Assumes risk in setting up
business
[Question ID = 19237]
a b. £ d
A i 1 1 v
[Option ID = 46939]
a b. c d.
D. v i i i
[Option ID = 46942]
a b. c d
B. i i v i
[Option ID = 46940]
a b. c d
C. im 1 i v
[Option ID = 46941]
Correct Answer :-
a b. c d.
A i 1 i iv )
[Option ID = 46939]
List I List II
a What to buy? i. Bulk buving
b.  When to buy? ii. Local market
c. How much to buy? . Inspection
d Where to buy? iv. Seasonal fluctuation in prices
e. What price to pay? v. Seasonal goods
[Question ID = 19229]
a b. c. d. e
C. 1t v i i 1w
[Option ID = 46909]
a b. c d. e
B. i i IV il v
[Option ID = 46908]
a b. ¢ d. e
A 1 111 v v 1
[Option ID = 46907]
a b. c d. e.
D. 1 ! i v i
[Option ID = 46910]

Correct Answer :-
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a b. c d. e
C iii v i i v
53) Match the items in List I with items in List II:
List I List IT

a2 Sitting Height

Vertical distance from the floor to the inmer

canthus (comer) of the eve

b. Buttock-knee length

1.

Vertical distance from the sitting surface to the
vertex (1.e. the crown of the head)

¢. Buttock-popliteal length

Horizontal distance from the back of the
uncompressed buttock to the front of the
kmeecap

d. Eye Height

hv.

Horizontal distance from the back of the
uncompressed buttocks to the popliteal angle, at
the back of the knee, where the back of the
lower legs meet the underside of the thigh.

e. Shoulder breadth

Maximum  horizontal breadth across the

shoulders, measured to the protrusions of the

[Option ID = 46909]

deltoid muscles.
[Question ID = 19242]
a b. c d e
C. 11 v i 1 v
1.
a b. C d. e
D. i 11 v 1 v
2
a b. c d. e
A 1 v i 1 v
3.
a b. c d e.
B. 1 u v v m
4,
Correct Answer :-
a b. c d. e
D. 1 111 v 1 v
54) Match the items in List I with items in List II:

[Option ID = 46961]

[Option ID = 46962]

[Option ID = 46959]

[Option ID = 46960]

[Option ID = 46962]

List I

List II

a. Innovative Entrepreneur

others

1. Dhehard conservatives. lives on labor of

b. Imitating Entrepreneur

ii. Entrepreneurs seeking victory by delay
rather than decisive battle

c. Fabian Entrepreneur

1i. Entrepreneurs who bring newer, better

and economical options to market

d. Drone Entrepreneur

entrepreneurs

iv. [Entrepreneurs who follow innovative

[Question ID = 19244]
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a b. c. d
C. v i i i .
1. [Option ID = 46969]
a b. c. d
D. 1ii 1 iv i
2. [Option ID = 46970]
a b. c. d
B. i iv i i
3. [Option ID = 46968]
a b. c. d
A w 111 i 1
4, [Option ID = 46967]
Correct Answer :-
a b. c. d
B. 1 '\ 1 i _
. [Option ID = 46968]
55) Match the items in List I with items in List IT:
List I List I
a Location of family i Sales promotion
b. Personal factors 1i. Age composition
c¢. Economic and institutional factors 11 Rural-urban
d. Family composition 1v. Attitude
[Question ID = 19227]
a b. c. d
D. v i i 1
1. [Option ID = 46902]
a b. c. d
C. 1 i v 111
2. [Option ID = 46901]
a b. c. d
B. 11 1 v 1ii
3. [Option ID = 46900]
a b. c. d
A i v 1 i
4, [Option ID = 46899
Correct Answer :-
a b. c. d
A it iv i 1
. [Option ID = 46899]
56) Match the items in List I with items in List II:
List I List 1T
a Pattern 1. Art & utilitarian element
b. Emphasis 1. Creates focal point
¢. Proportion 1. Surface enrichment
d. Light 1v. Spaces should be related to each other

[Question ID = 19240]

a

11l

v

[Option ID = 46953]
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a b. e d
D. 1 v i i
2. [Option ID = 46954]
a b. & d.
A 1w 1 i 1
3; [Option ID = 46951]
a b. e d.
B. 11 1 w 1
4, [Option ID = 46952]
Correct Answer :-
a b. C. d.
B. 11 1 w i
. [Option ID = 46952]
57) Match the items in List I with their targets to be achieved by the vear 2022 in List II:
List I List I
a. Solar energy 1. 100 GW
b. Wind energy . 60 GW
c. Biomass i 10 GW
d. Small hydro v 5GW
[Question ID = 19231]
a b. c. d
C. m 1 1 v
1. [Option ID = 46917]
a b. C. d
D. 1 1 m v
2 [Option ID = 46918]
a. b. C. d
A v 1 1 1
3. [Option ID = 46915]
a b. C. d
B v i 1 11
4, [Option ID = 46916]
Correct Answer :-
a b. c. d
D. 1 1 m v
. [Option ID = 46918]
58) Match the items in List I with items in List II:
List I List IT
a. Character L Ability to pay
b. Capacity i Money and securities owned
Capital i Security for a loan
d. Collateral v, Intent to pay

[Question ID = 19225]

a b. C. d
D. v i1 1 m
1.
a b. c. d
A v i i i
2.

[Option ID = 46894]

[Option ID = 46891]
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a b. e d
B. 1 i 11 v
3 [Option ID = 46892]
a b. c. d
C. i 1i1 v i1
4. [Option ID = 46893]
Correct Answer :-
a b. e d
e A= s : : o [Option ID = 46891]
59) Match the items in List I with items in List II:
List I List IT
1.  Pathway chart 1. Detailed analysis of a particular step 1n a whole process
1.  Micro-motion film | 11. Step-by-step description of a worker performing a given task
iii.  Process chart 1i1. Taking motion pictures of a task using a camera
iv.  Operation chart 1v. Analysis of overall travel and retracing of steps of a worker

[Question ID = 19234]

[Option ID = 46928]

[Option ID = 46927]

[Option ID = 46929]

[Option ID = 46930]

[Option ID = 46928]

a C. d
B. v i i
1.
a C. d
A v it
2
a C. d
B 1 1l il
3.
a 3 d
D. i il il
4.
Correct Answer :-
a £ d
B. v il i
60)
Match the items in List I with items in List II:
List I List I
a. Costs of adaptation 1. Height
b. Normal distribution 1.  Actual sizes of body components
¢. Stature jit.  Bell-shaped curve

d. Static Anthropometry

iv. Measurement based on body’'s ability

perform tasks within certain spaces

o

¢. Dynamic Anthropometry V.

Injuries, accidents, errors

[Question ID = 19241]

a b C. d e
B. v 1 i il iv
i
a b C. d e
C. v 11i i iv i
%

[Option ID = 46956]

[Option ID = 46957]
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[Option ID = 46955]

[Option ID = 46958]

[Option ID = 46956]

a b. C. d e
A v 1 v 111 1
3.
a b. C. d e
D. 111 i 1 v v
4,
Correct Answer :-
a b. C. d e
B. v 11 1 i v
61) Match the items in List I with items in List II:
List I List IT
a. ISl i. Ministry of Environment and
Forests
b. Ecomark 1. International Wool Secretariat
¢. Woolmark 111, Central Silk Board
d. Silkmark iv. BIS
[Question ID = 19226]
a b. C. d.
D. v 1 i 1
1. [Option ID = 46898]
a b. 3 d.
2, < P . : e [Option ID = 46897]
a b. ok d.
B. v 1 111 1
3. [Option ID = 46896]
a b. C. d.
A v 1 1 i
4. [Option ID = 46895]
Correct Answer :-
a b. C. d.
D. v 1 1 1

62) Which of the following hold true for incandescent lamps:

i. The light is produced by a thin filament of tungsten inside a glass bulb
ii. This kind of light source does not produce any heat

iii. These are also called mercury lamps

iv. The filament of the bulb glows when its temperature rises

[Question ID = 19162]

1. iii, iv [Option ID = 46642]
2. i, iv [Option ID = 46641]
3. ii, iii [Option ID = 46639]
4. i, i [Option ID = 46640]

Correct Answer :-
» i, iv [Option ID = 46641]

63) Which of the following serve as basis for classifying standards:
i. Degree of flexibility

ii. Measurability

iii. Content

iv. Space

[Question ID = 19148]

[Option ID = 46898]

collegedunia:s

India’s largest Student Review Platform



1., iii, iv [Option ID = 46585]
2. iii, iv [Option ID = 46586]

3., ii, iv [Option ID = 46584]
4. i, ii, iii [Option ID = 46583]

Correct Answer :-
« i, ii, i [Option ID = 46583]

64) Which of the following statements hold true for work surfaces:

i. The height of the elbow is an important determinant for desirable height of work surfaces

ii. The depth of the work surface is determined by the distance that can be reached by a worker comfortably
iii. The maximum work surface depth is 36 inches

iv. The functional limits for width of work surfaces range from 8 inches to 12 inches

[Question ID = 19175]

1. iii & iv [Option ID = 46692]
2. ii & iii [Option ID = 46694]
3. i & iii [Option ID = 46691]
4. i & ii [Option ID = 46693]

Correct Answer :-
= i &ii [Option ID = 46693]

65) Which of the following are features of motivation:
i. It is an internal feeling

ii. It is a continuous process

iii. It leads to destruction

iv. It is a psychological process

[Question ID = 19166]

1. i, iii, iv [Option ID = 46658]
2. ii, iii, iv [Option ID = 46656]
3. ii, iii [Option ID = 46657]

4. i, ii, iv [Option ID = 46655]

Correct Answer :-

« i, ii, iv [Option ID = 46655]

66) Which of the following are on-the job training methods:
i. Mentoring

ii. Job rotation

iii. Interviewing

iv. Apprenticeship

[Question ID = 19170]

1. i, iii, iv [Option ID = 46673]
2.i, ii, iii, iv [Option ID = 46674]
3., ii, iv [Option ID = 46672]
4, i, ii, iii [Option ID = 46671]

Correct Answer :-
e i, ii, iv [Option ID = 46672]

67) Which of the following are some of the principles given by Fayol:
i. Division of work

ii. Discipline

iii. Unity of Command

iv. Decentralization

[Question ID = 19146]

1. i, iii, iv [Option ID = 46575]

2. i, iii, iv [Option ID = 46576]

3. i, ii, iii [Option ID = 46577]

4, All of these [Option ID = 46578]

Correct Answer :-
= i, i, iii [Option ID = 46577]

68) Which of the following are entrepreneurial competencies:
i. Initiative
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ii. Information seeking

iii. Assertiveness

iv. Commitment to work contact
v. Satisfaction

[Question ID = 19179]

i, i, iv & v [Option ID = 46710]
. ii, iii, iv & v [Option ID = 46709]
i, i, iii & iv [Option ID = 46707]
i, i, iii & v [Option ID = 46708]

B R R

Correct Answer :-
e i, ii, iii & iv [Option ID = 46707]

69) Which of the following are elements of rhythm:
i. Opposition

ii. Repetition

iii. Demarcation

iv. Gradation

v. Alternation

[Question ID = 19173]

i, iii, iv [Option ID = 46683]
i, iii, v [Option ID = 46684]
i, ii, iii [Option ID = 46686]
i, iv, v [Option ID = 46685]

B I S R

Correct Answer :-
« i, iv, v [Option ID = 46685]

70) Which of the following are sources of external recruitment:

i. Advertisements

ii. Employment exchanges
iii. Walk-in interviews

iv. Employee referrals
[Question ID = 19183]

i, iii, iv [Option ID = 46725]
. ii, iii, iv [Option ID = 46724]
i, ii, iv [Option ID = 46723]
i, i, iii [Option ID = 46726]

B R R

Correct Answer :-
« i, ii, iii [Option ID = 46726]

71) Which of the following are the methods of training evaluation:

i. Company records

ii. MBO

iii. Observation

iv. Tests

[Question ID = 19171]

i, iii, iv [Option ID = 46675]

. ii, iii, iv [Option ID = 46677]
i, ii, iii, iv [Option ID = 46678]
i, ii, iv [Option ID = 46676]

A I R

Correct Answer :-

e i, iii, iv [Option ID = 46675]
72) Which of the following are the types of area rug:

i. Accent rug

ii. Carpet tiles

iii. Art rug

iv. Room size rug

v. Scatter rug

[Question ID = 19178]

1., iii, v [Option ID = 46703]
2. iii, iv, v [Option ID = 46704]
3. ii, iii, iv [Option ID = 46705]
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4. i, i, i [Option ID = 46706]

Correct Answer :-
« i, iii, v [Option ID = 46703]

73) Which of the following are the factors influencing employee remuneration:
i. Comparable worth

ii. Labour unions

iii. Employee skills

iv. Business strategy

[Question ID = 19169]

. ii, iii, iv [Option ID = 46669]
i, ii, iii, iv [Option ID = 46670]
i, ii, iv [Option ID = 46668]
i, i, iii [Option ID = 46667]

B R R

Correct Answer :-
e i, i, iii, iv [Option ID = 46670]

74) Which of the following are suitable for conversation in an informal setting:
i. Circular grouping

ii. Straight line grouping

iii. L-shaped

iv. U-shaped

[Question ID = 19164]

i, iii, iv [Option ID = 46648]
i, iv [Option ID = 46650]
. ii, iv [Option ID = 46649]
i, ii, iii [Option ID = 46647]

B B

Correct Answer :-
« i, iv [Option ID = 46650]

75) Which of the following is not true for feedback control:

i. Feedback control measures the input of a process

ii. It feeds the corrective action into the system at the level of the input to obtain the desired output
iii. Time lag in the system causes delay in proper functioning

iv. It anticipates deviations beforehand

[Question ID = 19149]

1. ii & iv [Option ID = 46590]
2. i & iv [Option ID = 46587]
3. iil & iii [Option ID = 46588]
4. i & iii [Option ID = 46589]

Correct Answer :-

» j & iv [Option ID = 46587]
76) Which of the following are parts of design development in a designing exercise:

i. Schematic drawings

ii. Creating blocking diagrams

iii. Selecting furnishing materials

iv. Design construction drawings

[Question ID = 19161]

. iii, iv [Option ID = 46636]
. ii, iv [Option ID = 46637]

. ii, iii [Option ID = 46638]

. i, ii [Option ID = 46635]

B R R

Correct Answer :-
« i, ii [Option ID = 46635]

77) Consumer organizations have following objectives:

i. To provide consumer education

ii. To share and exchange consumer related information

iii. To conduct research and product testing

iv. To promote all activities related to consumer protection and interest
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v. To act as District Consumer Forums
[Question ID = 19156]

i, iii, iv, v [Option ID = 46618]
. ii, iii, iv, v [Option ID = 46615]
i, i, iii, iv [Option ID = 46616]
i, ii, iii, v [Option ID = 46617]

O L R

Correct Answer :-
e i, i, iii, iv [Option ID = 46616]

78) E-business and E-commerce take place over the following domains:
i. Business to consumer

ii. Business to business

iii. Consumer to business

iv. Insurer to borrower

v. Borrower to worker

vi. Consumer to consumer

[Question ID = 19152]

1. iii, iv, vi [Option ID = 46599]
2. ii, iii, iv, vi [Option ID = 46601]
3. i, i, iii, vi [Option ID = 46600]
4. i, ii, v, vi [Option ID = 46602]

Correct Answer :-

« i, ii, iii, vi [Option ID = 46600]
79) Arrange the composition of three-tier redressal machinery under COPRA, starting with the base level:

i. State Commission

ii. District Forum

iii. National Commission

[Question ID = 19210]

i, iii, ii [Option ID = 46831]
. ii, i, iii [Option ID = 46834]
. ii, iii, i [Option ID = 46833]
i, i, iii [Option ID = 46832]

O N R

Correct Answer :-
= i, i, iii [Option ID = 46834

80) Arrange following steps of planning an event in the correct sequence:
i. Budgeting

ii. Evaluation of planning

iii. Listing products and services in various departments

iv. Deciding the theme

v. Controlling intangible elements during planning

[Question ID = 19211]

1. i, iii, iv, v, ii [Option ID = 46837]
2. v, i, i, ii, v [Option ID = 46835]
3. v, iii, i, v, ii [Option ID = 46836]
4. i, i, iv, iii, v [Option ID = 46838]

Correct Answer :-
= iv, iii, i, v, ii [Option ID = 46836]

81) Arrange the training need assessment process in the right sequence:
i. Design need analysis programme

ii. Collect data

iii. Identify training needs

iv. Analyse data

v. Provide feedback

[Question ID = 19218]

1., iii, v, iv, ii [Option ID = 46863]
2. iv, i, v, iii, | [Option ID = 46865]
3. v, i, iii, i, iv [Option ID = 46866]
4. iii, i, ii, iv, v [Option ID = 46864]
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Correct Answer :-
« i, i, ii, iv, v [Option ID = 46864]

82) Arrange the following in sequential order of construction:
i. Stone flooring

ii. Walls/columns

iii. Plinth

iv. Foundation

v. Roofing

[Question ID = 19221]

i, iii, iv, ii, v [Option ID = 46877]
. iv, iii, ii, v, i [Option ID = 46876]
i, iii, i, v, iv [Option ID = 46878]
i, ii, iii, iv, v [Option ID = 46875]

W L R

Correct Answer :-
o v, iii, ii, v, i [Option ID = 46876]

83) Arrange the following in chronological order of their implementation:
i. Fruit Product Order (FPO)

ii. Consumer Protection Act (COPRA)

iii. Agricultural Produce (Grading and Marketing) Act

iv. Ecomark

[Question ID = 19209]

i, i, iii, iv [Option ID = 46830]
i, iii, i, iv [Option ID = 46827]
. ii, iii, iv, i [Option ID = 46828]
i, 1, i, iv [Option ID = 46829]

B R R

Correct Answer :-
o iii, i, ii, iv [Option ID = 46829]

84) Arrange the following steps of controlling in correct sequence:
i. Establishing clear standards

ii. Comparing results against predetermined standards

iii. Measuring performance

iv. Taking corrective action

[Question ID = 19224]

., i, i, iv [Option ID = 46890]
. v, i, i, 1 [Option ID = 46887]
. i, iv, iii, ii [Option ID = 46889]
. i, i, iv, iii [Option ID = 46888]

B B

Correct Answer :-
= i, iii, ii, iv [Option ID = 46890]

85) Arrange the following steps of house planning in sequential order:

i. List the number of rooms to be planned to accommodate important activities
ii. Select the plot size for construction

iii. Assess the space requirement according to activities of occupants

iv. Consider building bye-laws for construction of the house

v. Finalize the floor plan as per the requirements

[Question ID = 19220]

1., iii, iv, ii, v [Option ID = 46873]
2. i, i, v, iii, iv [Option ID = 46872]
3. i, ii, iii, iv, v [Option ID = 46871]
4, ii, iv, iii, i, v [Option ID = 46874]

Correct Answer :-
= i, iv, iii, i, v [Option ID = 46874]

86) Arrange the following steps of decision making in the correct sequence:
i. Selecting the best solution

ii. Identifying the problem

iii. Analyzing the problem
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iv. Developing alternatives
[Question ID = 19212]

i, iii, iv, ii [Option ID = 46839]
. i, iii, i, iv [Option ID = 46840]
i, iii, iv, i [Option ID = 46841]
i, iv, iii, i [Option ID = 46842]

O L R

Correct Answer :-
o i, iii, iv, i [Option ID = 46841]

87) Arrange the following steps of staffing in the correct sequence:
i. Recruitment

ii. Analyzing manpower requirements

iii. Selection

iv. Placement

[Question ID = 19223]

i, i, v, ii [Option ID = 46883]
. ii, i, iii, iv [Option ID = 46886]
i, iii, i, iv [Option ID = 46884]
. iii, 1, iv, ii [Option ID = 46885]

B R R

Correct Answer :-
= i, i, iii, iv [Option ID = 46886]

88) Arrange the following stages of acquiring skill as given by Seymour in the correct order:
i. Structuring your sensory motor patterns

ii. Learning the sequence of activity

iii. Diminishing conscious attention

iv. Attaining the right 'set’ in sensory channels

[Question ID = 19219]

. i, iii, iv, ii [Option ID = 46870]
. i, 1, iv, iii [Option ID = 46868]
., i, iv, dii [Option ID = 46869]
i, iv, i, iii [Option ID = 46867]

B R R

Correct Answer :-
« i, iv, i, iii [Option ID = 46867]

89) Arrange the following steps in making a time schedule in the correct sequence:
i. Classifying each task under flexible & inflexible category

ii. Listing all tasks to be completed

iii. Ensuring estimated time and actual time are in harmony

iv. Prioritizing tasks and allotting time for each task

[Question ID = 19213]

i, iii, iv, i [Option ID = 46843]
i, i, iii, iv [Option ID = 46845]
i, i, iv, iii [Option ID = 46846]
i, iii, i, iv [Option ID = 46844]

W L R

Correct Answer :-
« ii, i, iii, iv [Option ID = 46845]

90) Arrange the following steps in design process in correct order:
i. Exploring the solution

ii. Identify best solution

iii. Client Profile

iv. Completion of the project

v. Goals & requirements of the project

[Question ID = 19214]

1. v, iv, iii, ii, i [Option ID = 46849]
2. i, iii, v, i, iv [Option ID = 46847]

4. iii, v, 1, ii, iv [Option ID = 46850]

Correct Answer :-
« iii, v, i, ii, iv [Option ID = 46850]
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91) Arrange the appraisal process in the right sequence:
i. Design an appraisal programme

ii. Performance interview

iii. Objectives of performance appraisal

iv. Establish job expectations

v. Appraise performance

[Question ID = 19217]

1., iii, iv, v, ii [Option ID = 46859]
2. v, i, ii, iii, v [Option ID = 46861]
3. iii, iv, i, v, ii [Option ID = 46860]
4. v, ii, iv, iii, i [Option ID = 46862]

Correct Answer :-
o iii, iv, i, v, ii [Option ID = 46860]

92) Arrange the stages of product life cycle in correct sequence:
i. Introduction

ii. Growth

iii. Maturity

iv. Decline

[Question ID = 19222]

1., iii, ii, iv [Option ID = 46882]
2. i, iv, ii, iii [Option ID = 46880]
3. i, ii, iii, iv [Option ID = 46879]
4.1, ii, iv, iii [Option ID = 46881]

Correct Answer :-
= i, i, iii, iv [Option ID = 46879]

93) Arrange the stages of five stage creative process in correct sequence:
i. Preparation

ii. Illumination

iii. Idea generation

iv. Verification

v. Incubation

[Question ID = 19216]

1., iii, iv, v, ii [Option ID = 46855]
2. v, i, ii, iii, v [Option ID = 46857
3. v, i, iv, iii, i [Option ID = 46858]
4. iii, i, v, ii, iv [Option ID = 46856]

Correct Answer :-
= i, i, v, ii, iv [Option ID = 46856]

94) Arrange the stages of business opportunity search in correct sequence:
i. Scanning of environment

ii. Identification of product or service

iii. Spotting an opportunity

iv. Zeroing down

[Question ID = 19215]

i, iii, ii, iv [Option ID = 46851]
. iii, ii, i, iv [Option ID = 46854]
i, iii, iv, i [Option ID = 46852]
. iii, i, ii, iv [Option ID = 46853]

b MO

Correct Answer :-
« i, i, ii, iv [Option ID = 46853]

95) Promotion mix includes:
i. Personal selling

ii. Advertising

iii. Publicity

iv. Warehousing

[Question ID = 19168]

1. i, iii, iv [Option ID = 46666]
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2. ii, iii, iv [Option ID = 46664]
3. i, ii, iv [Option ID = 46663]
4. i, ii, iii [Option ID = 46665]

Correct Answer :-
= i, i, iii [Option ID = 46665]

96) Entrepreneurs are known to have:
i. Higher internal locus of control

ii. Higher external locus of control

iii. Moderate risk taking ability

iv. Higher risk taking ability

[Question ID = 19180]

1. ii & iv [Option ID = 46714]
2. i, ii & iv [Option ID = 46712]
3. i, ii & il [Option ID = 46711]
4. i & iii [Option ID = 46713]

Correct Answer :-

« i &iii [Option ID = 46713]

97) The effects of psychological fatigue are:
i. Decreased attention

ii. Decreased motivation

iii. Increased mental performance

iv. Impaired perception and thinking

v. Reduction in mistakes

[Question ID = 19182]

1., iii, v [Option ID = 46721]
2. ii, iii, iv [Option ID = 46720]
3. i, ii, iv [Option ID = 46722]
4. i, ii, iii [Option ID = 46719]

Correct Answer :-

« i, ii, iv [Option ID = 46722]

98) Identify the tools of time management:
i. Skill acquisition

ii. Time Plan

iii. Rest Periods

iv. Budgeting

[Question ID = 19147]

1., iii, iv [Option ID = 46582]
2. ii, iv [Option ID = 46581]

3. i, ii, iii, iv [Option ID = 46579]
4. 1, ii, iii [Option ID = 46580]

Correct Answer :-
« i, i, iii [Option ID = 46580]

99) Identify the objectives laid down by National Building Code (NBC, 2005):

i. Uniform guidelines for architects, builders, contractors & civil managers

ii. To serve as a standard document for the authorities while planning & building
iii. To promote haphazard construction of building

iv. To partially adhere to safety norms

[Question ID = 19174]

1. i, iii [Option ID = 46690]
2. ii, iv [Option ID = 46687]

4. i, ii [Option ID = 46688]

Correct Answer :-
= i, ii [Option ID = 46688]

100) Marketing has following objectives:
i. Demand creation
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ii. Capture market share

iii. Supervise working of all departments
iv. Build goodwill

[Question ID = 19167]

1. i, i, iv [Option ID = 46662]
2. i, iii, iv [Option 1D = 46660]

4. i, ii, iv [Option ID = 46659]

Correct Answer :-
= i, i, iv [Option ID = 46659]
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